YM 5532 T 21A-B0GYB43

¥MSEAIT Zw, — HE055

H 8055 21A-B0BYE00

Micht abgeb.Mo; shown
Rachis-
RH.
Drnia

&7

E3-01727B



2 von 4

Pos Teilenummer

H

Bezeichnung |

Bezeichnung Il

oo OO B~ WON =

14
15
16
17
18
19
20
21
22
23
23A
24
25
26
27
28
28A

092.48.580
092.48.605
092.48.581
092.48.582
092.12.076
092.48.607
092.48.583
092.48.632
092.48.584
712-0691

092.48.633
092.48.585
21.1441.49
092.48.250
092.48.586

712-0692

736-0700

092.48.587
092.48.650
092.48.588
092.48.589
092.48.275
736-0649

092.48.590
092.48.634
092.48.591
092.48.592
092.48.593
092.48.594
092.48.595
092.48.648
092.48.649

R N N N N N U U U U U

1

SCHRAUBE M6X55
SCHALTHEBEL-RUCKWARTS
GASREGULIERHEBEL
SCHRAUBE M6X16
SICHERUNGSMUTTER M6
BOWDENZUG (MOTORANTRIEB)
BOWDENZUG (MOTORANTRIEB)
OBERHOLM

OBERHOLM / E-TEIL-SET
S-6KT-MUTTER: M6 DIN 985-8
HALTER FUR HEBEL
HANDGRIFF
SECHSKANTSCHRAUBE DIN 933
KUPPLUNGSGRIFF

BOWDENZUG (KUPPLUNG
HACKWERK)

S-6KT-MUTTER: M8 DIN 985-8
U-SCHEIBE:8x16x1.6:1SO 7089
VERSCHLUSSSTOPFEN
BOWDENZUGHALTER
SCHRAUBE M8X65
FUHRUNGSBOLZEN
SCHEIBE

FEDERRING B8 DIN 127-FEDERST.

SCHRAUBE M8X25
RUCKWAND

RUCKWAND

BUCHSE

STOPFEN

SCHRAUBE M8X40
SCHRAUBE M8X18
SCHUTZBLECH RECHTS
SCHUTZBLECH LINKS GRUN

86.2356.200
33.0010.900
32.1010.920
86.2070.010
81.4548.000
26.0050.238
26.1050.210 *
36.0010.096
36.0010.110

MTD SPEC-100015 24.1426.14
33.0010.905
23.1050.906

M6X22 ZN5GL CB 8.8
26.0050.258
36.0010.120

FINISH:SPEC-100015 24.1426.18
MTD SPEC-100015 24.6481.18
36.0010.906

36.0010.130

86.2952.000

80.8991.000

84.3708.000
FINISH:SPEC-100015 24.8195.18
86.2685.000

36.0005.178

36.0005.176

80.2052.000

80.1910.000

86.2785.000

86.2546.000

36.0015.087 DX

36.0015.088 SX

29.09.2020, 10:36



3 von 4

Pos Teilenummer

28B
28C
29
30
31
32
33
34

34A

35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57

092.48.596
092.48.597
092.48.277
092.48.598
092.48.280
092.48.599
092.48.600
092.48.637

092.48.601

092.48.314
092.48.313
092.48.602
092.48.603
092.48.604
092.12.104
092.48.651
092.48.606
092.48.658
092.48.608
092.48.609
092.48.610
092.48.611
092.48.612
092.48.613
092.48.614
092.48.615
092.48.616
092.48.617
092.48.618
092.48.303
092.48.619
092.48.620

# Bezeichnung |

SCHUTZBLECH RECHTS
SCHUTZBLECH LINKS ROT
ZIEHSPLINT
VORDERACHSE
SICHERUNGSSCHEIBE
RAD

BLECHMUTTER

GETRIEBE KPL. MIT
MOTORTRAGER

GETRIEBE KPL. MIT
MOTORTRAGER

OELEINFUELLSCHRAUBE
DICHTRING

STUTZE

BLECHMUTTER
SCHRAUBE

SCHEIBE

SCHRAUBE
MOTOR-KEILRIEMENSCHEIBE
BOWDENZUG
GEWINDESTIFT M6X10
SCHRAUBE 5/16X5/8"-24UNF
RUCKZUGFEDER
RUCKZUGFEDER
BUCHSE MIT BUND
BOLZEN

SCHRAUBE M12X60
SCHRAUBE M12X35
SPANNARM

SPANNARM
DISTANZBUCHSE
SPANNROLLE
DISTANZBUCHSE
SCHEIBE

Bezeichnung Il
36.0015.085 DX
36.0015.086 SX

85.1486.000
36.0012.130
84.3993.080
26.0050.904
81.4560.000
36.0005.075

36.0005.074

85.2520.000
80.2095.010
36.0012.100
80.8990.000
86.2097.010
84.3570.000
86.2470.010
36.0020.110
36.0010.122
86.2010.000
86.2439.070
36.0005.952
36.0005.950
36.0005.217
36.0005.215
86.3997.100
86.3750.000
36.0005.233
360005237

36.0005.212
26.0005.906
36.0005.210
84.3812.000

29.09.2020, 10:36



4 von 4

Pos
58
59
60
61
62
63
64
65
65A
66
67
68
78
79
80
80A
82
83
84
85
86
87
88
89
90
91
95
96
97
97A
98
98A
99

Teilenummer

092.48.621
092.48.622
092.48.623
092.48.624
092.48.625
092.48.626
092.48.627
092.48.628
092.48.629
092.48.630
092.48.631
092.48.661
736-0668

092.48.662
092.48.663
092.48.636
092.48.638
092.48.639
092.48.640
092.48.641
092.48.642
092.48.643
092.48.644
092.48.645
092.48.646
092.48.647
092.48.659
092.48.652
092.48.653
092.48.654
092.48.655
092.48.656
092.48.657

# Bezeichnung |

MUTTER

MUTTER
KEILRIEMENSCHEIBE
PASSSTIFT
KEILRIEMEN
KEILRIEMEN
SCHRAUBE M6X16

KEILRIEMENABDECKUNG GELB
KEILRIEMENABDECKUNG GRAU

DISTANZRING

SCHUTZRING

SCHEIBE
SCHEIBE:6.4X12X1.6:DIN125
SCHEIBE

ABDECKUNG

ABDECKUNG

DISTANZRING

RITZEL

KEIL

ZAHNSCHEIBE
KUGELLAGER 6201-2RS
DISTANZSCHEIBE
RIEMENFUHRUNG
SCHRAUBE M6X12
HALTEPLATTE
SICHERUNGSRING
PFLANZENSCHUTZSCHEIBE
SCHRAUBE M8X45
HACKSTERN RECHTS
HACKSTERN LINKS
DOPPELHACKSTERN RECHTS
DOPPELHACKSTERN LINKS
ABSTECKBOLZEN

Bezeichnung Il
81.4645.000
81.4703.000
36.0005.200
85.1287.000
32.1005.189
36.0005.190
86.2120.000
36.0005.900
36.0005.905
36.0005.220
36.0015.900
84.3619.000
FINISH:MTD SPEC-100015
84.3994.000
36.0005.923
36.0005.921
27.0011.943
36.0020.118
36.0020.120
36.0020.114
81.2523.050
34.1012.364
36.0005.172
86.1998.000
36.0005.162
80.1102.000
36.0015.213
86.2845.000
36.0015.290 DX
36.0015.292 SX
36.0015.280 DX
36.0015.282 SX
85.2110.000

29.09.2020, 10:36



